HW13 Solutions
Math 3338-10853: Probability (Fall 2006), Dr. Jiwen He

18.
E(X+Y)= ZZ(H— V) p(x, v) =(0+0)(.02)

+(0+5)(06)+ +(10+15)(.01) =14.10

b. E[max (X.Y)]= ZZmax(Y V) p(x, )
= (0(02) + (5)(.06) % ...+ (15)(01) = 9.60

22. Revenue = 3X + 10Y. so E (revenue) =E (3X + 10Y)
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5. Cov(X.Y)= —% and g1, = p1, = 2 E(X?) = lez - [ (x)dx
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Simularly, Var(Y) = .80 Pyy
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Since E(XY) = E(X) - E(Y). Cov(X.Y) = E(XY) - E(X) - E(Y) = E(X) - E(Y) - E(X) - E(Y) =

Cov(X.,Y)
————  then Corr(X.Y) =0
0.0,

29,
0, and since Corr(X,Y) =



